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PART -1I1

senflesll mlefwed / COMPUTER SCIENCE

ST ojemay : 3.00 wentl CHIW ]
Time Allowed : 3.00 Hours ]

Sidleyemysst : (1)

@)

Instructions : (1)

(SO WwHmb <piidle el / Tamil & English Version)

[ Qurés wHLQuaTSEET : 70
[Maximum Marks : 70

Simansg eflamss@pd sfwrs Leurdl e erersm crerugenen gMuMTEgs
Qamererayld. FsILSeND Gapulmider, Hemns samasmaniliumeaTilLLd
o | arqungs @gflellésali.

Beolb  Sdeg sGUY @wuloearn LLECL ETWHUSHGLD,
=iy EGsTLPaugshEn Lwau®ss GCaamr(io. ULRISE auefeusm @
Quendle LwaTLBHSS@LD.

Check the question j)aper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately. ‘

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.
&S -1 /PART -1
&oliy : () SlenenSgl lamssHErsEh el waléssaw. | 15x1=15

(i) Qar@ésiulBérer mrem@ wrHom el sale Wsa b ghymLW
AeoLows Csrbashsss GOUTLOLa alleWmanyb Gsrsg
eT(LpSEYLD.

Note : (i)  Answer all the questions.

(iiy Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.
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L apg seflluurh sowapopule gpahidlameanhs snmpsear LweaUuBFsuucLg 7

(<=1) apamid ge@awenp (%) GppmDd gerapann
(®) preasmbd geoeape (rr) @yesimb geneapen
Which generation of computer used IC's ?

(d)  Third generation (b)  First generation

(c)  Fourth generation (d) Second generation

2. uafllsas sedupp eleurhismens saiiss), @eufluwraeupemn WL HCL GHEEGD
uenilufes DEFRIGET 6TET SAMPESILH6UG :
(=) @mrifamanssd (<=1) Seursd Gy
(®) Afgse (FF) SIHEULDTESLD

Omitting details inessential to the task and representing only the essential features of the task
is known as :

(a) Composition (b) Specification

(c) Decomposition g (d) Abstraction

3. SD&aTEmIDd L &G THHME WPn @QURIGLD ? |

i:=0
whilei # 5
i:=i+1
(=24) 6 (=24)4 (@) o () 5

How many times the loop is iterated ?
i:=0
whilei # 5
it=i+1

@ 6 ®) 4 © o d 5
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.
Epseam_auppar o uerQudeame QFup@iurEn ?
(<) > (<) () & () %
Which of the following is the scope operator ?
(@) > b = (c) & (d %
Cperauwpp Weananehsma SiBSsaTsERsE uflbrhpbd CFueusg) Grent
SePssluBE DS
(=t) earped (<) Guomraig (&) evpaen (/) @vGuib
Distributing unwanted e-mail to others is called
(@) scam (b) fraud (c) spoofing (d) spam
C++ -& e Qewun@n &G wrh QsupGHlurs LweaTLBSSU-
u@BH g | |
(=) — (=) + - (®) = ()t
In C++ is used for pointer to a variable.
(@ - (b) + (e = @ -

Semeumeuameupdled ergl mempe| Gerglly L &E ?
(=) if (<) for (@) do-while
Which of the following is the Entry Control loop ?

(a) if (b) for (c) do-while

(/) switch

(d)

switch
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K. ufhwnhpadbaren sl mgmodlen Gaudu®isies

(em) WSlenrarggy Arag DAHOD

(8y,) hlenengn srey o udhibrHmib

(@) arey eoén LflionhHmpd

() Benergmy srey wflwrhpid

Legal recognition for transactions are carried out by :

{a) Electronic Data Transfer

(b} Electronic Data Interchange

(c} Data Interchange

(d) Electronic Data Exchange

9. sreys@aub, Dswpsamisearud g Qurmer erergyib CUEDTIEDDEGET RETMITHL
Genarrég) eeud@n Qswdmlub

(<21) SA(HEUWLT&ESELD (<21,) LIOIHAITESELD
(&) wryflwio () zepurdunrésio

The mechanism by which the data and function are bound together into a single unit is
known as :

(a) Abstraction (b)  Polymorphism
(c)  Inheritance (d)  Encapsulation
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5
#include<iostream>
using namespace std;
int main()
{
int i=1, sum=0;
while(i<=10)
{
sum=sum-+i;
it+;
}
cout<<sum;
return 0;
}
CuGa o drer Hlyeden CQeueflui® wrg ?
(=4) 55 (<) 54 (&) 51
#include<iostream>
using namespace std;
int main()
{
int i=1, sum=0;
while(i<=10)
{
‘sum=sum-+i;
i++;
}
cout<<sum;
return 0;
}
The output for the above snippet is :
(@) 55 (b) 54 () 51

www.Trb Tnpsc.com
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() 50

(d) 50
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11.

13.

14.

gretpiusailed epn Gaminder wm@uuwifli W[INE (NI 7 AWTRI (VS @@lé@mgﬂ cllens

(<) F5 (<) F2 (@) Fo (FF) F4
The shortcut Key used to rename a file in Windows,
(@) F5 (b) F2 (¢) Fé (d) F4

Geérumb peateugadE SPESRT_pmdr oThs sH QuesuuBL ?
add display(add &); // add ereviug) Qens@palenr QUi

(<) B3 & (=) sTaene| 2458

(@) <weymesdr Qaors ousd () DT (HESHEHLET Falgl &S]

Which of the following constructor is executed for the following prototype ?
add display(add &); // add is a class name.

(a) Copy Constructor (b) Default Constructor

() Non-Parameterized Constructor (d) Parameterized Constructor

sewnuCurhluden enwd QewuwssHa YL (hsaflan eramantdams ereueumm @GmULEL -
u®@Sog ? . ‘
(=) Cauf® Bord (<) UL (@) Q- () HliGe

Which refers to the number of bits processed by a computer’s CPU ?
(a) Word length (b) Byte (c) Bit (d) Nibble

oar_m(h @WsHs el U(PBIGLD usd :
(=1) eamenwwrer Crrb CFwaTEsLD
(=1,) srey SHIGWITEHD

(&) urgsriy Guerereno

(FF) euenp&Hemey LIWLIET @)enL (Lpasid
Interactive operating system provides :

(a) Real Time Processing

(b) Data Distribution

(c) Security Management

(d) Graphics User Interface
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15.  deteumaueeupmier ergl ¢(m CISC Gawad oL@ ?

(<) Pentium 111 (<24,) Intel P6 (©) Pentium IV (rr) AMD K6
Which of the following is a CISC processor ?
(@) Pentium III (b) Intel P6 (c) Pentium IV (d) AMD Ké

u@d - 11/ PART - 11

stemeuCuenib Qm1 eSS @EE @ aflenweflsseyb. aflerm oramr 24 -8

Gy :
6x2=12

SL_Lmuwns adlenwafldsea]w.

Note : Answer any six questiohs. Question No. 24 is Compulsory.

16. pseienw Fleneaiaishd HHID @ravLmb Hevew Hlenemeusidn — CaumuB SIS

Distinguish Primary and Secondary Memory.

17. (1324)g -&@ Hlarmen LG cremenrns: WOmHmis.

(1324), - convert to equivalent Decimal number.

18. L& LW GuEs Senolil| GTeDTe) eTaue ?
What is Multi user operating system ?

19. const ALy Qgrew uHM TOSSHEETLHL6T Smy GDHILL eT(HSHIS.

Write a short note on const keyword with example.

20. void grey cuensudlan PEHWSHIRISET WTena ?

What are the importance of void data type ?
[ Hplays / Turn over
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21.

22.

23,

24.

TGN eremmndr craman 3

What are Wares ¥

BOY Cravassire Pl cmd Cald Qurflame LLguaBa
List the wiarch engires sapported by Tamad Languagy

Gpdlapeny - auer (L T P
Define an alprwstbon

Bdrauns frdidr Geaad . rgass
Firn duades koneqam »
UNng namespue and
M maing )
{
L S
(O ® geny
OO € ey
return O
|
Winite the Cetpat of te blowm g peoyram,
Finu lode<wwtregm »
SN nameespece snd
ot ey )
{
i
for{i=0z<fjee)
OO <3< g dl
return (4
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L) - 1/ PART - I

. . _ , © eflentr erefm 33 -6

@:ﬂuu Coagneud Spn DanaoEnds@ ol weflssapn, eflenr 6 e 318
s Lmuwns e wallame|b.

Note @ Answer any six questions. Question No. 33 is Compulsory.

25. @ SPEHd Quiligenwits ummls @bl aesys.

(]
~1

28.

29.

30.

31.

32.

33.

Write a note on Recycle bin,

v s & . 7 ] ] o . 5 12258 ?
@ Qad@upamal Hmedd@ibGuTg selagild Qarerear Goiamiqenal LTens

What are the points to be noted while deriving a class ?

Apdlaperpudicn, Hlaney ereusumm) @g’)]ﬁt_cﬂl_uu@éﬂeiﬂmgj ?

How is state represented in algorithms ?

XOR eumudledlest QiU 1guieh eT(pgIs.
Give the Truth Table of XOR gate.

isupper( ) @b toupper( ) Gewpamnseiar Gaumur® wrg ?
What is the difference between isupper( ) and toupper( ) functions ?

CD wpmidb DVD — Gaugu(hss15.
Differentiate - CD and DVD.

HevywssHen GO _S555685 ApuQweyseneTs LDl eT(HSIS.

Write the significant features of monitor.

el GTETMIE GTENET ? DG CUMSHENGT 6T (LS.

What is an array ? Write its types.

do-while wL&Heva LTRSS 5 WPsHo 1 eueny 2 6drer eramsaner Geuafluil. C++
Blyeney eT(LpgIs.

Write a C++ program to display number from 5 to 1 using do-while loop.

[ Siplis / Turn over
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@GS - IV / PART - IV

5x5=25
SO : Senengg NaTis@hs@h e waflésea L.
Note : Answer all the questions. .
; . P TNIB .0 | =
34. (=) @@ safluQuriluien DiglumL LT&EhIEDaTS Qgafleurar JersaslILLSS
cllend Gs.

60605
. . : ; STLIT(R&ET
(<2p) ureud QW&s ewliler &HSSIH LDDH EN6TEESS. GogLb BigeT LWIen ®
wrened ?
(@) Explain the basic components of a computer with a neat diagram.
OR

(b) ~ Explain the concept of a Distributed Operating System along with its advantages.

35. (1) Wenmeumeauaeupenn @pHlenc erem euigailed Fal (Hs.
@ (=21)10*+ G0 () (—12)30+(15)10
B Y[V IEVY ]
(=) Qewpsmn veallGLy aarprd eeaem ? Gewpanm L1 eoof) L (& L1 191 1D & T ot
N penmaer wmeneu ?
(a) Perform binary addition for the following.
@ (=21)10+ G0 @  (=12)10+(15)19
OR

(b) What is function overloading ? What are the rules for function overloading ?

36. (<) ROM -en euenssaerls LpPl eNen&sons erpsis.
S| 6VeVg|
(<=,) if-else HMID switch sapOISEBSEAmL_CLWTa We&du CapurGamarn rpgIs.
(@) Explain about the types of ROM.
OR

(b) " Write the differences between if-else and switch statement.
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(=) QeuafluSLab erenpred arairan ? gGaguh ey QeuaflSL® srgeamisemen
eSlema @8,

37.

(@)  What is an output unit ? Explain any three output devices.
olevevg [ OR
() Genmaumd Hredlar, QeuafluSieL eT(pgs.
()  Write the output of the following program.
#include<iostream>

using namespace std;

class student

{
int rmno, marks;
public:

student(int r,int m)

cout<<"Constructor'<<endl;
rno=r,

marks=m;
void printdet( )

marks=marks+30;
cout<<"Roll no :"<<rno<<"\n";
cout<<"Marks :"<<marks<<endl;
}
7
int main( )
{
student s(14,70);
s.printdet( );
cout<< "Back to Main';

return 0;
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38. (=) wryfwsder uaGam umasmer aflouflésab.
(@)  Explain the different types of inheritance.
2j6vevg [ OR

(<=2p) Wemaumid C++ Hlyedleb 2 eer 1Genipsener HmHS5Io-
(b) Debug the following C++ program.

Output :

Total area : 35

Program :

%include<iostream>

using namespace std:
CLASS Shape

{
Private ()
int count
Protected;
int width;
int height;
PUBLIC;
Void setwidth [int w]
{
width=w;
Y
void setheight (int h)
{
height=h;
}
)
Class rectangle : : Public Shape
{
Public.
int getarea [ ]
{
return (width * height);
IF
}
int MAIN( )
{
rectangle rect :
rect. setwidth(5);
rect.setheight(7);
cout>>"Total area : "<<rect.getarea( )<<endl;
return 0;
7
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